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CE 1205 — SURVEYING I

CIVIL ENGINEERING
Time: Three Hours Maximum: 100 marks
ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)

1. What are differerit field notes to be made ina surveying.

2. Name the instrﬁm@nts essential for linear measurement
by chaining. _

3. Whaﬁ"dqydu meanhy local attraction. State the effects.
4. Whatis ;)riequgfion in plane table survey.

5.  Define “Bench ﬁark” aﬁd “Back sight”.

6. State any four characteristics of contour lines.

7. What is meant by plunging in theodalite surveying.

8. What are tangent screws in a theodalite.

9. Define “degree of curve” and state the expression for it.

10. What is meant by sight distance?
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PART -B (5x16 =80 marks)

Discuss the  different  corrections
applicable in measurements carried out
with chains.

What is well conditioned triangle. Why is
it necessary to use thém in chaining.

Or.

In chaining past a pond, station P and Q
were selocted on opposite sides of pod. A
line PA 200m long was set out to the left
of PQ and line PB was set out on the
right such that A,Q and B are lying in a
straight line. The length PB was 250m.
AQ and gB were measured as 125m and
150m respectively. Determine the
distance between P and Q.

Explain, the working principle an optical

square; and also setting up the
“~perpendicular by optical square.

compare traverse PQRSTP was run

anticlockwise and following bearings were
taken where local attraction was suspected.
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Line FB BB
PQ 149°0° | 328°45
QR 76°30° | 255°Q°
RS 40°30°_| 221°45
ST 313°15" | 133°45
TP 219°15" | 39°15

Or

Determine the included angles, local attraction
and correct bearings.

What is resection. Explain the three-point
problem with illustrative diagrams:

Following teadings were taken successively
with a leveling mstrument The instrument
was shifted after fifth’ and eleventh readings.

0,535, 1:015, 1.495, 3.295, 3.675, 0.350, 1.300,
1.795, 2.575, 3.375, 1.435, 0.635, 1.125, 1.755

Draw up the page of level book and determine
the R.L of various points if the RL of the first
point on which the first reading was taken is
213.500m.

Or

Explain the different methods of contouring.

Explain the methods of measuring vertical and
deflection angles using a theodalite.
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Or

(b) In an open traverse ABCDE, it is required to

@
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fix the mid point of the line joining A and E.
Find the length and bearing of that point from
the station C, When the records of traverse are
‘as follows.

Line | Length(m) Bearing

AB 130.5° N 20°30E
BC 215.0 N 60°15E
CD: 155.5 S 30°30E
DE ‘1 20.0 N 80°30°E

Two tangents’' AB and BC intersect at B.
Another line DE intersects AB and BC at D
and- E such that 2 ADE =150° and < DEC
=140°. The radius of the first curve is 200m
and that of (ybe second is 300m. The chainage
of B is'950md. " Calculate all data necessary for
setting out’ thg,compound curve,

Or

(16)

(16)

Discuss the various surveys to be carried out (16)

in carrying out highway project.
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